CHAPTER IV

FINDINGS AND DICUSSION

This chapter deals with the research findings and discussion of the study
toward student teachers’ assessment instrument. The researcher describes the result of
the analysis in findings part. While in discussion part, the researcher will dispute the
result of the data regarding with how the assessment of student teacher fulfill the test
standardization and the causing factor of the weakness in their assessment instrument.
A. Research Findings

The research had been conducted from 26" May-12" June 2015. Here, the

researcher has gained the data of the student assessment instrument and their
lesson plan. From every practice teaching class; A, B, C, D, E, F, G, there are 24
student teachers who taught reading. Nevertheless, not all of them were able to
become the research respondent. Two of them have refused to be analyzed or
interviewed, and another three did not design reading test or task, although they
taught reading in their practice teaching. In short, there were 19 students who
become the research respondent here. The results of those findings are categorized
based on the research questions of the study.

1. Student Teachers’ Assessment Instrument Based on Standardization

Test.

In case of finding how student teachers’ assessment instruments fulfill

the requirement of the standardization of cognitive or knowledge competency
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assessment, the researcher had collected the data regarding with their
assessment instrument and lesson plan. The researcher had tabulated the data
of the student who taught reading by categorizing it form each technique and
its level (see appendix 3). Then the researcher concludes the data by using

chart to make the reader easily to interpret the data:

Technique in Assessing Reading

JI i1

Multiple  Descriptive  Short Fillinthe  Matching  True and
Choice Question answer blank false

OO P N W b~ O OO N

Chart 4.1 Techniques in Assessing Reading

Based onchart 4.1, there are six different assessment techniques which were
applied by the student teacher in their practice teaching. The detail of each
technique and how they fulfill the test standardization will be explained
below:
a. Multiple Choice
In multiple choices, based on rubric which is adapted from Sri

Wahyuni book, there are 21 indicators that need to be fulfilled (see appendix
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1). Student teacher’s assessment was analyzed based on the indicator, and

their final score was categorized as follows;

1) Good :21-15
2) Fair :14-8
3) Poor 17-1

Those categorizations means, from 21 indicators in multiple choice, if the
assessment are able to fulfill indicators 21-15 indicators, the assessment is
categorized as good assessment. Then if the assessment is able to fulfill 14-8
indicators, it is categorized as fair assessment. The last is if the assessment is
able to fulfill 7-1 indicators, the assessment is categorized as poor

assessment.

Multiple Choice Technique

215

21
20,5 | Final score of the
20 Assessment Analysis

Student A Student B Student C

Chart 4.2 Multiple Choice Techniques

From chart 4.2, it can be seen that there were 3 student teachers who
designed multiple choice test or task. Student A and B got 21 as his final

score, it means that they had already fulfilled the requirement of
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standardization test. While, student C got 20 as her final score, whereas she
could not meet one of the indicators. Still, their assessment instrument design
IS categorized as good assessment.
Descriptive Question

In descriptive question technique, based on the rubric which is adapted
from Sri Wahyuni book, there are 12 indicators that need to be fulfilled (see
appendix 1). Student teacher’s assessment was analyzed based on the

indicator, and their final score was categorized as follows;

1) Good 112-9
2) Fair :8-5
3) Poor 4-1

Those categorizations means, from 12 indicators in descriptive question, if the
assessment is able to fulfill the entire indicators 12-9 indicators, the
assessment is categorized as good assessment. Then if the assessment is able
to fulfill 8-5 indicators, it is categorized as fair assessment. The last is if the
assessment is able to fulfill 4-1 indicators, the assessment is categorized as

poor assessment.
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Descriptive Question Technique

12,5
12
11,5

11 -

10,5 ] I M Final Score of the
10 Assessment Analysis
9,5 A I I

9 A T T T T T

Student Student Student Student Student Student
D E F G H |

Chart 4.3 Descriptive Question Techniques

From chart 4.3, it can be seen that there were 6 student teachers who designed
descriptive question as a test or task. Student H and 1 got 12 as his final score;
it means that they had already fulfilled the requirement of standardization test.
Student D and F got 11 as their final score, whereas they could not meet one
of the indicators. Then, student E and G got 10 as their final score; it means
that they could not fulfill two of the indicator above. Still, their assessment
instrument design is categorized as good assessment.
c. Short Answer

In short answer, based on the rubric which is adapted from Kunandar
books there are 6 indicators that need to be fulfilled (see appendix 1). Student
teacher’s assessment was analyzed based on the indicator, and their final

score was categorized as follows;
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1) Good :6-5
2) Fair 14-3
3) Poor 2-1

That categorization means, from 6 indicators in short answer, if the
assessment is able to fulfill 6-5 indicators, the assessment is categorized as
good assessment. Then if the assessment is able to fulfill 4-3 indicators, it is
categorized as fair assessment. The last is if the assessment is able to fulfill

2-1 indicators, the assessment is categorized as poor assessment.

Short Answer Technique

8

6 +— -

o3 E— — Final Score of the

y N I —— I Assessment Analysis
0 T .

Student ) Student K

Chart 4.4 Short Answer Techniques

From chart 4.4, it can be seen that there were 2 student teachers who
designed short answer test or task. Both of students J and K got 6 as their
final score; it means that they had already fulfilled the requirement of
standardization test. That is why their assessment is categorized as good

assessment.
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d. Fillin the Blank
In fill in the blank, based on the rubric which is adapted from
Kunandar book, there are 9 indicators that need to be fulfilled (see appendix
1). Student teacher’s assessments were analyzed based on the indicator, and

their final score was categorized as follows;

1) Good 9 -7
2) Fair 16-4
3) Poor :3-1

Those categorizations means, from 9 indicators in fill in the blank, if the
assessment is able to fulfill the entire indicators 9-7 indicators, the
assessment is categorized as good assessment. Then if the assessment is able
to fulfill 6-4 indicators, it is categorized as fair assessment. The last is if the
assessment is able to fulfill 3-1 indicators, the assessment is categorized as

poor assessment.

Fill in the Blank Technique

10

® Final Score of the
Assessment Analysis

oON B O
I

Student L StudentM

Chart 4.5 Fill in the Blank Techniques
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From chart 4.5, it can be seen that there are 2 student teachers who designed
fill in the blank as a test or task. Both of students L and M got 8 as their final
score, whereas they could not meet one of the indicators. Here, their
assessment instrument design is categorized as good assessment.
Matching

In matching, based on the rubric which is adapted from Kunandar
book, there are 9 indicators that need to be fulfilled (see appendix 1). Student
teacher’s assessments were analyzed based on the indicator, and their final

score was categorized as follows;

1) Good :9-7
2) Fair 16-4
3) Poor :3-1

Those categorizations means, from 9 indicators in matching, if the
assessment is able to fulfill the entire indicators 9-7 indicators, the
assessment is categorized as good assessment. Then if the assessment is able
to fulfill 6-4 indicators, it is categorized as fair assessment. The last is if the
assessment is able to fulfill 3-1 indicators, the assessment is categorized as

poor assessment.
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Matching Technique

9,2

8,8
8,6
8,4
8,2 M Final Score of the

8 Assessment Analysis
7.8
7,6
7,4 T T

Student N Student O Student P

Chart 4.6 Matching Techniques

From chart 4.6, it can be seen that there were 3 student teachers who
designed matching test or task. Both of students N and O got 9 as his final
score, it means that they had already fulfilled the requirement of
standardization test. While, student P got 8 as her final score, whereas he
could not meet one of the indicators. Still, their assessment instrument design
IS categorized as good assessment.
f. True and False

In true and false, based on the rubric which is adapted from Kunandar
book, there are 12 indicators that need to be fulfilled (see appendix 1).
Student teacher’s assessments were analyzed based on the indicator, and their
final score was categorized as follows;

1) Good :12-9

2) Fair :8-5
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3) Poor 4-1

Those categorizations means, from 12 indicators in true and false, if the
assessment is able to fulfill the entire indicators 12-9 indicators, the
assessment is categorized as good assessment. Then if the assessment is able
to fulfill 8-5 indicators, it is categorized as fair assessment. The last is if the
assessment is able to fulfill 4-1 indicators, the assessment is categorized as

poor assessment.

True and False Technique

12,5
12
115

11
10,5 m Final Score of the

Assessment Analysis
10
9,5 .
9

Student Q StudentR Student S

Chart 4.7 True and False Techniques

From chart 4.7, it can be seen that there were 3 student teachers who
designed true and false as the test or task. Student Q got 10 as his final score,
which means he could not meet two of the indicator. While, student R got 12
as her final score which means she had already fulfilled the indicators. Then

student S got 11 as his final score, whereas he could not meet one of the



68

indicators. Still, their assessment instrument design is categorized as good
assessment.

In short, the entire assessment instrument which was designed by
student teacher is categorized as a good assessment. Although some of them
are unable to meet some of the indicator, still their assessments are
categorized as good assessment. In case of knowing the number of students
who were able to fulfill the entire indicator and students who were unable to

fulfill some of the indicator, the researcher will present it into percentage;

Percentage of Student Teacher Who
Fulfill the Test Requirement

Miss two of
the indicator
16%

Chart 4.8Percentage of Student Teacher Who Fulfill the Test Requirement

Here From all of the student teacher who designed the assessment, 47% of
them have been able to fulfill the entire test requirement, 37 % of them could

not meet one indicator, and 16% of them could not meet two of the indicator.
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The Causing Factor of the Weakness Indicator that Could not be

Fulfilled by Student Teacher

After getting the result of the analysis, there was some of the

assessment instrument which was not able to fulfill some indicators in each of

technique. In this case, the indicators which were unable to fulfill is called the

weakness point. Based on the finding of the first research question, here is the

table of the techniques that used by the students and their weakness point.

Table 4.1 Students’ Assessment Technique and Their Weakness Point

The Assessment Student’s Weakness Point
Technique Name
A =
Multiple Choice B -

C The negative statement is not in italic
form or underline

D There is unclear instruction about how
to answer the question.

E The question is not the in the form of
interrogative sentence or command
which demand descriptive answer.

Descriptive There is unclear instruction about how
Questions to answer the question.

& There is unclear instruction about how
to answer the question.

G There is unclear instruction about how
to answer the question.

The question depends on the previous
question.

H -

| -

Short Answer J -

K -

L The length of the full stop for the blank
answer is not similar from one question
to another.

Fill in the Blank M The length of the full stop for the blank




70

answer is not similar from one question
to another.

Matching

|02

The question and the answer is not place
in the right place.

True and False

Use quantitative word which is easily to
guess

The arrangement of true and false
statement is not arranged randomly.

0|20

Use quantitative word which is easily to
guess

Based on the weakness point above, the researcher attempted to find

the causing factor of the weakness point by doing interview toward the

student teacher. To find the causing factor of the weakness point, the

researcher showed them the result of the analysis and stated whether they

have fulfilled the indicator or not. When there was indicator that could not be

fulfilled, the researcher asked why they could not fulfill that point. In that

case,the researcher would categorize the data based on each of the assessment

technique, the weakness, the proof of the weakness and the causing factor of

the weakness point.

a. Multiple Choice

Based on the data in the first research question, there were three

students who designed multiple choice tests. Student A and B got 21 as his

final score, it means that they had already fulfilled the requirement of

standardization test. While, student C got 20 as their final score, whereas she
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could not meet one of the indicators. In this case, the detail of their weakness
point and their reasons will be explained further below:
1) StudentC
Weakness : As displayed below, the negative statement is not in italic

form or underline (The word except in their instrument).

8. | The following statement is true, except

a Suramadu’™s bridge is alsé I-ulnv.‘n
Surabava-MNadura bridge

b. the long of Suramadu’s bridge 15 5400
meters

c. suramadu’s bridge connects the islands off
Fava and Madura

d. bridges was opened on March 31, 2009
e car charged at 30000 rupiahs

e e o
Causing Factors : According to student C related with her weakness
point, she stated that she did the lesson plan and the assessment in rush,
so she did not pay attention on detail. She realized that the word “except”
must be in italic or underline form, she just forgot to change it. The point
is, the student forgot to change the word in italic or underline form.

b. Descriptive Questions

Based on the data in the first research question, there were 6 student
teachers who designed descriptive question as a test or task. Student H and |
got 12 as his final score; it means that they had already fulfilled the
requirement of standardization test. Student D and F got 11 as their final

score, whereas they could not meet one of the indicators. Then, student E
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and G who got 10 as their final score, it means that they could not fulfill two
of the indicator above. In this case, the detail of their weakness point and
their reasons will be explained further below:
1) StudentD
Weakness : As displayed below, student D gave unclear instruction about
how to answer the question. She only wrote “questions” over the
questions list.

<QMD

What does the recipe show vou how to make?

What are the mgredients?

How much sugar do you need?

=S L [ ] —

When do you have to stop boiling the pineaple?

L

How shuld vou serve the pineaple stew?

Causing factors: She stated that she was not aware that she needed to put
the instruction over it. She assumed that the student might have
understood what they should do, even if it was without instructions. The
point is, she assume that giving instruction is not important.
2) StudentE
a) Weakness: As displayed below,the question is not the in the form of
interrogative sentence or command which demand descriptive

answer.
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2 Please write down the missing part from the tewo

3_Please write down each of procedure text structure of the teo

If it uses interrogative question, there must be question mark (?) or if
it uses command, there must be interjection mark (1)

Causing factors :According to student D, she stated that she realized
that when using command question she have to use interjection mark.
However she said that if she put interjection mark, it seemed like she
forced the students to do the task. It was not a nice thing to see if in a
question there was interjection mark, so she just omitted it. The point
IS, she does not like put interjection mark in question.

Weakness: As displayed below, there is unclear instruction about

how to answer the question

1. From the text, W

Although there is instruction, but the instruction is not clear, students
were asked to answer the question without any guiding how to
answer the question.

Causing Factors: According to student D, she stated that her

instruction was not really clear. She realized that at that time when



3)

4)

74

she taught the students, her students fell confused to do the task. She
said that she just forgot to make it clearly. The point is, she forgot to
make a clear intructions for her task.

Student F

Weakness: As displayed below, there is unclear instruction about how to

answer the question. Student F only wrote “Guiding questions” over the

questions list.

buidingquestion

eoio built the places?

wWihere is the place located?

How do you describe the situation there?
wWihen are these building built?

’5 Please write down any information, do you thing important?

wWihy the building was build?

Causing factors: Student F stated that she forgot to give instruction to the

students. However, at that time she had already delivered the instruction

orally. The point is she forgot to put the instruction.

Student G

a) Weakness: As displayed below, there is unclear instruction about how
to answer the question. Student G only wrote “Question” over the

questions list.
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T T S B TR o IO T AL SO T FCOR TN 2 NLTICE R S U [NCTS |1 SN DRURP ¥ S S P AL T IS 0
o T g 0 g g C P g T g
‘Thank you very much for saying so.”

Nura observes this event from the backdoor. She cries happily for her

changed into a mature, stable young man.

Qucstion:?
hade*Nura?

2. Whois Juna?
3. What’s Juna’s negative characteristics?
4. How does Nura teach Juna?

W o

Causing factors: According to student G, she stated that, she did not
need to put the instruction, the students might have understood well
with what they had to do. The questions was under the text, so the
students would just answer it based on the text. The point is, he
assume that giving instruction is not important.

b) Weakness: As displayed below, the question depends on the previous
question. Here, if students are able to answer the question in number
8, automatically they will be able to answer the question number 9,

since the question is similar.

5. What leads Juna’s life to his downfall?
6. What does Nura do to return the wealth of Juna's family?

7.W dllls suTey
©. How do they congratulate Juna? What expressions are used?
What expressions are used|by Juna’s staff to congratulate him?
1 Lot T3ama’e o 1z

Causing Factors: Accordig to student G, he did not realize that thing

and forgot it. He just did it randomly. The point is, he forgot with that,
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c. Short Answer
Based on the data in the first research question, there were 2 student
teachers who designed short answer test or task. Both of students J and K got
6 as their final score, it means that they had already fulfilled the requirement
of standardization test. Here, there will be no weakness or causing factor in it.
d. Fillin the blank
Based on the data in the first research question, there were 2 student
teachers who designed fill in the blank as a test or task. Both of students L and
M get 8 as their final score, whereas they could not meet one of the indicators.
The detail of their weakness point and their reasons will be explained further
below;
1) Student L
Weakness: As displayed below, student L put the length of the full stop
for the blank answer which is not similar from one question to another.

Help tre police ko catch these criminals! Complete their
descriptions using the words from the list below:

Pedro Sombrero is the chubby boss of the Mexican
J Mafia. Pedro has af......... -.......] Everyone can -
see it when he laughs. He wears a moustache. His p—
* gold tooth ...lis fat and he has a huge double chin. He
e face always wears a sombrero ......
e hat " Pete Baldy is a computer hacker. The police wants

him for hacking into the Pentagon’s web server. Peter |
shaves his head every two days. That’s why his !
[}
[l

glasses

'

i

. ]

e black-rimmed ]
'

i nickname is Baldy. He wears [ He always

'

]

LT | pe—

o sleeveless shirt "
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Causing factors: according to student L, she stated that she did not
realized that it was something important since she took the assessment
from a book, so she did not check it and just use it. The point is, she did
not know that what she have done is wrong.

Student M

Weakness: As displayed below, student M put the length of the full stop

for the blank answer which is not similar from one question to another.

Worksheet 2: Fill the blank with correct answer in the box
The Golden Swan

One night, as the poor widow was sleeping restlessly, she™=""= 1) her husband’s voice. “T have come back to help you, “the
oice said. The widow sat up and looked around. She kmew she was dreaming, and in her dream she[™™""9(2) outside A large swan
spoke to her with the Chief Hunter's voice. “T kmow how hard it is for vou, “the Swan said in the Cmef Hunter's voice. The Widow

- 13) happy to hear her hushand’s voice, yet sad because she knew that it was a dream.

THE words stuck her throat so she could not speak. The Swan stood in the moonlight and said, “T wish I could be here with you.
Then it came closer. She could see that many of its feathers were [™ ] (4) of gold. In the moonlight it seemed to be a golden swan
The golden swan said, “Put your hand out and take one of my golaen Ieathers. Use the money for yourself and the children. Go on,
will retun whenever you need more. Pull a feather out of my wing. The Golden Swan said in the voice of the chief hunter, “Go t
sleep now. In the moming you willF™="""7] 5) this was a special dream.” So the widow put the feather beside her bed and went bac]

o sleep. She["J(6) so well and s0 deeply it was as if her husband were still alive. When she woke up, she remembered the
dream and looked for the golden feather. There in its place was money and gold. The woman was very happy and later she went to the
rillage and '7) food and clothing. She was careful not to sy:éend too much.

Causing Factors; According to student M, she stated that she only put the
full stop randomly and did not thing that it is important. The point is
student M was not aware to put the full stop in the same length from one

question to another.

Matching

Based on the data in the first research question which analyzed

student’s assessment instrument, there were 3 student teachers who designed

matching test or task. Both of students N and O got 9 as his final score which

means that they had already fulfilled the requirement of standardization test.
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While, student P got 8 as her final score, whereas he could not meet one of
the indicators. The detail of their weakness point and their reasons will be
explained further below:
1) StudentP
Weakness: As displayed below, student P put the question and the answer
in a wrong place. Here student P asked his students to match the picture

with the statement; he put all of them in one page.

gy — m— =] Question |

Froes - =82 B5IBEGL8S T4
FETi. TOrres et Cre v Pt 8 b4 S Pt
ATl WTIAE atoast 1y fogether e
ey By sk B pom T A e o s cant

=5 o W O Bl
F = e =

= T
plazed ig INLATD T Ohlin =il waach the mowie

T Theose wifl be a sale in Shos Podm 5 A gas smtion & aboad
3. Thas i the zipn of poblic dodl=z 9 Shos Podict has good shoss

Answer

Causing factors: Student P stated that, he did not know that the question
and answer in matching should be placed side by side. The point is he did
not know that matching test should be placed like that.
f. True and False
Based on the data in the first research question, there were 3 student

teachers who designed true and false as the test or task. Student Q got 10 as
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his final score, which means he could not meet two of the indicator. While,
student R got 12 as her final score which means she had already fulfilled the
indicators. Then student S got 11 as his final score, whereas he could not
meet one of the indicators. The detail of their weakness point and their
reasons will be explained further below:
1) Student Q

a) Weakness: As displayed below, student Q used quantitative word

which is easily to guess

B. State T if the sentences are true and F if the sentences are false (based on the
report text above).
1. The frogs have strings front legs. o
2. Frogs héve 3 clambers in their heart that enable them to breathe through their skin

and lungs. ..

Causing Factors: According to student Q, she stated that she did not
realize about that, and it was not really important thing. The most
important thing was her students were able to do her task. The point
is she did not think that it was an important thing.

b) Weakness: As displayed below, student Q arranged true and false

statement randomly. It can be seen from the answer key.
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B. State T if the sentences are true and F if the sentences a

Questions

report text above).
1. The frogs have strings front legs. /

2. Frogs have 3 chambers in their heart that enable them to breathe through their skin

and lungs. €. )
3. All species of frogs protect themselves from their enemv bv the poison glands in
their skin. ()
4. The frog’s teeth can be found in the lower jaw. {_ )
5. Thew are called amphibians because they could live only on land. ()
6. They catch their preyv by flipping out their tongue. ()
7. Many frogs are used by human beings for experiments.  CEED |
8. Minnows, earthworms, bats, raccoon, and spiders are frog’s prev. (_ )
9. They have short front legs which is used to prop the frog up when sits. ()
10. Frogs are invertebrate animals. ()

B_ State T if the sentences are true and F if the sentences are false (based on the report

text abowve).

1. F (the front legs or arms are short). AnSWGr Key

2. T
3. F (different species of frogs have different kinds of protection. e

glands in their skin).

»

F (thewv onlwv have teeth in the upper jaw).

w

F (amphibians’ means that thev live part of their life in water and the other part of

it on land}.

[frog are vertebrate animals (animals with backbones) known as amphibians).

Causing Factors: According to student Q, she stated that, she just
made the question randomly and did not realize that the answer will
form in sequence. The point is she did not realize if it was false.
2) StudentS
Weakness: As displayed below, student S used quantitative word which

was easily to guess.

Task 1
Based on the information in the previous text, write T if the sentence is True or F if the
sentence is False.

Monument National is a symbel of Indonesia independence. {...... i)

The original declaration of independence document is placed in freedom hall. (...... )
The monument had @ ain halls inside. (...

The obelisk of the monument is coated wi '@ gold. {...... )

Public is unable to see the city from the top of the monument. {...... )

N wmR
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Causing factors: According to student S, he stated that in the previous
text, there was no statement about number, whereas the number is written
in a word, so there was no problem if he wrote the number in the form of
number in her task, but he also admitted that he forgot about it. The point
is he forgot about it.

As stated previously, the researcher has been showed the result of the

interview and the point of each interview. To make the researcher easier to

interpret the data, the researcher tabulates the data as follows;

Table 4.2 Weakness Point in Students Assessment and its Causing Factors

The Assessment | Student’s Weakness Point Causing factor
Technique Name
A - =
Multiple Choice B - -

C The negative The student forgot to
statement is not in change the word in
italic form or italic or underline form.
underline

D There is unclear She assumed that
instruction about how | giving instruction is not
to answer the important.
question.

E The question is not the | She does not like put

Descriptive in the form of interjection mark in
Questions interrogative sentence | question.
or command which
demand descriptive
answer.
There is unclear She forgot to make a
instruction about how | clear intructions for her
to answer the task
question.

F There is unclear The point is she forgot
instruction about how | to put the instruction.
to answer the
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question.

G There is unclear He assumed that giving
instruction about how | instruction is not
to answer the important.
question.

The question depends | He forgot with that.
on the previous
question.
H -
| i
Short Answer J -

K -

L The length of the full | She did not know that
stop for the blank what she have done is
answer is not similar | wrong

Fill in the Blank from one question to
another.

M The length of the full | Student M was not
stop for the blank aware to put the full
answer is not similar | stop must be in the
from one questionto | same length from one
another. question to another.

N -

Matching @) -

2 The question and the | He did not know that
answer is not place in | matching test should be
the right place. placed like that.

Q Use quantitative word | She did not think that it
which is easily to was an important thing.

True and False guess
The arrangement of She did not realize if it
true and false was false.
statement is not
arranged randomly.
R -
S Use quantitative word | He forgot about it

which is easily to
guess
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Instead of tabulate the data into table, the researcher have concluded the

factors which made student teacher unable to fulfill the test requirement.

Factors of Students' Weakness Point

B Forget

m Did not know

@ Unimportant thing
m Did not like with it

Chart 4.9 Factors of Students’ Weakness Point

From chart 4.9, it can be seen that, 31% of them stated that they forgot about
the indicator that become their weakness point. Then 31% of them stated that
they did not know about that indicator, so they did not implement it into their
assessment. Another 31 % of them stated that the indicator that they could not
meet was not an important thing to be aware; it did not give any effect to their
assessment. The last one is 7 % of student teacher who stated that they did not

like with the indicator, so they just ignored it.

digilib.uinsby.ac.id digilib.uinsby.ac.id digilib.uinsby.ac.id digilib.uinsby.ac.id digilib.uinsby.ac.id digilib.uinsby.ac.id digilib.uinsby.ac.id
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B. Discussion
In case of having the same interpretation between the reader and the
researcher toward the finding of the research, this part discuss those findings by
reflecting on some theories related to each following problems. Thus, the
discussion is categorized based on the research questions of the study.
1. Student Teacher Assessment Instrument Based on Standardization Test.

As stated in the background, assessing students is one of the main
duties of a teacher." It becomes the evidence of the result in teaching and
learning process. Especially for cognitive and knowledge assessment which
become the focus of the research, both of them have the straight connection
with the teaching purposes. Then, for student teachers who are going to face
their internship program whereas they will teach the real class, designing the
proper assessment becomes an important thing to do.

Based on the finding, there are 6 types of assessment technique which
was applied by student teacher. Here some of their assessment has been able
to fulfill the standardization whereas they got good level and some of them
have been unable to fulfill some of the indicators in test standardization.
Howeverall of the assessment instrument was categorized as a good

assessment instrument.

'Kunandar, Penilaian Autentik (Jakarta: Raja Grafindo Persada, 2014), 2.
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Multiple choice

All of the student teachers who designed multiple choice test, their
assessment was categorized as good assessment. In multiple choices,
there were three students who designed this assessment. Two of them
(student A and B) have been able to fulfill the test standardization, while
student C could not meet one of the indicators. In her assessment, she
used negative word in her question, the word “except” in her
assessment, but she did not form it in italic or underline. Actually, in
multiple choices, if the word is in the form of negative statement or
word, we have to write the word in italic or underline.
Descriptive Questions

In descriptive question, there were 6 student teachers who
designed descriptive question as a test or task. In this technique, there
were 6 student teachers who designed descriptive question as a test or
task. In this technique, they supposed to meet 12 of the indicators. There
were two students who have been able to fulfill the test standardization;
Student H and I. Then there were two students who could not meet one
of the indicators; student D and F. The other two were student E and G
who could not fulfill two of the indicators.

Student D and F had the same type of the indicator which were

unable to fulfill by them. In line with them, student E and G were unable

’Sri Wahyuni, Assessmen Pembelajaran Bahasa (Bandung: Refika Aditama, 2012), 55.
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to fulfill this indicator either. Here they did not write a clear instruction
for their task. As their instruction, student D and G only wrote
““questions” over the questions list, while student F only wrote “guiding
questions” over the questions list, student E wrote “‘answer this
following question with the best answer”. In descriptive question
writing a clear instruction is a must.® Before they set the test or the task,
they gave a text to their students, since they taught reading. In contrast,
in their instruction they did not give any instruction related with the
relationship between the reading text and the task that they had given.

Both of students E and G could not meet two of the indicator,
instead of making unclear instruction for the task; they still had another
indicator that they could not meet. Student E did not form her question
in interrogative sentence or command. Actually the statement of her
question is in the form of command question and she put full stop in the
end of the question. Using command sentence as her question, she
supposed to add interjection mark in the end of the sentence, not a full
stop.

The next one is student G, here he wrote the question which was
related to each other. It means that, the question depends on the previous
question. If his students were able to answer the question in number 8,

automatically they would be able to answer the question number 9, since

*Sri Wahyuni, Assessmen Pembelajaran Bahasa..., 53.
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the question is similar. However in descriptive questions, the question
must be different from each other, whereas every question is designed to
have different aim, meaning and answer.*
c. Short Answer
In this technique, there were 2 student teachers who designed
short answer test or task. In this technique, they supposed to meet 6 of
the indicators. Both of the students J and K got 6 as his final score, it
means that they had already fulfilled the requirement of standardization
test. All of the six criteria which become a reference of the test
standardization have already met by this student teacher.
d. Fill in the Blank
In fill in the blank, the categorization of students score was in
good level. Here, there were 2 student teachers who designed fill in the
blank as a test or task. In this technique, they supposed to meet 9 of the
indicators. Both of students L and M get 8 as their final score, whereas
they could not meet one of the indicators.
Both of student L and student M had the same weakness on their
assessment. Here, the length of the full stop in their question was not
similar from one question to another. In fill in the blank they supposed

to put the length of the full stop similar from one question to another.” If

“Sri Wahyuni, Assessmen Pembelajaran Bahasa ..., 54.
SKunandar, Penilaian Autentik..., 204.
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the length of the full stop is not similar, it seems like the teacher
facilitate the students to guess the answer.® If the full stop is long, it
means that they need to answer with a long word. Then, if the full stop
is short they need to answer with a short word.

e. Matching

In matching, In matching, all of the students’ final score was
categorized as good assessment. However, not all of them could meet all
of the indicator. There were 3 student teachers who designed matching
test or task. In matching their assessment supposed to fulfill 9 of the
indicators. Both of students N and O got 9 as his final score, which
means they had already fulfilled the requirement of standardization test.
While, student K got 7 as her final score, whereas he could not meet two
of the indicators.

First, student P did not place the question and the answer in the
right place. Here, he asked her students to match the picture with the
statement. Actually when designing matching test, the question and the
answer must be placed side by side, whereas the question is on the left
side and the answer in the right place.” Here he put all of them in one
page. Instead of placing the question and answer side by side, the

question on the left must be placed with number while the answer on the

®Kunandar, Penilaian Autentik..., 204.
’Kunandar, PenilaianAutentik..., 208.
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right must be placed with alphabet. However, student P upended it; he
wrote the question with alphabet and the answer with number.
f. True and False

In this technique, in this technique all of student teachers
assessment was categorized as good assessment. there were 3 student
teachers who designed true and false as the test or task. In true and false
they supposed to fulfill 12 of the indicators. Here, student R got 12 as
her final score which means she had already fulfilled the indicators,
while student S got 11 as his final score, whereas he could not meet one
of the indicators. And Student Q got 10 as his final score; it means that
he could not meet two of the indicator.

In this case, both of student S and Q have the same weakness point
whereas they use quantitative word in their question. Using quantitative
word in true and false technique might facilitate the student to easily
guess the question meaning? Here, the student’s attention will be
directly to the number.

Here, student Q still has another indicator which was unable to
fulfill by him. He arranged the answer of the question in sequence, it can

be seen from his answer key, from number 6 up to 9, the answer key is

8 unandar, Penilaian Autentik..., 206.
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(T). In true and false the question has to be designed randomly, not in
sequence.’

In short, all of the student teachers are able to design the assessment
instrument properly. It can be proven by the categorization of their final
score which was categorized as good assessment. Based on the finding, from
all of the student teachers who designed the assessment, 47% of them have
been able to fulfill the entire test requirement, 37 % of them could not meet
one indicator, and 16 % of them could not meet two of the indicator. It
shows that, although student teacher are still trained about how to be a good
teacher thay have had a good ability in designing the assessment.

2. The Causing Factor of the Weakness Indicator that Could not be
Fulfilled by Student Teacher

The indicator which was unable to fulfill by the student teacher is
caused by some factors. In this study, the data of the causing factor of the
weakness indicator that could not be fulfilled by student teacher was
obtained from the interview result. By finding the weakness factor, it can
become the reference for student teachers who are going to face their
internship program, to be aware of their previous fault, since in internship
program they will deal with the real class. Based on the finding above, the
factors which influenced the weakness point of their assessment instrument

is categorized as follows.

gKunandar, Penilaian Autentik..., 207.
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a. Forget about detail
This factor was stated by 31% of student teachers who designed
multiple choice and descriptive question. Here, in the form of multiple
choice and descriptive question they have to write the instruction how to
do the question, and most of them forgot about it. Some of them stated
that they did it in rush, so they did not pay attention on the detail. Still,
whether they did it in rush or not, they have to pay attention on the detail.
The detail will make the assessment is able to assess what it needs to
assess.
b. Assumed that it was not important thing
This factor is stated by 31% of student teachers who designed
descriptive question and true and false assessment. When the researcher
showed them about the indicator that they were unable to meet, they just
thought that the indicator was not important and there was no use to us it
in their assessment. Still, the indicator of the standardization test is
designed to help the teacher in designing a good assessment for their
student, so every single indicator is designed to have its own objective.
c. They did not know about that indicator
This factor was stated by 31% of student teachers who used fill
in the blank, matching and true and false technique. They did not know if
the indicator which they were unable to meet is the test requirement. In

this case before designing the assessment, they should search for the
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information of how to design the proper assessment and the requirement
of designing it, so in the following time, this will not happen anymore.
. They did not like with it

It is a unique reason which was started by 7% of the student
teachers who designed descriptive questions. She did not like put the
interjection mark in the statement, so she omitted it. In this case, whether
they like it or not, they have to stick with it, since designing assessment is
not based on their preferences, it is about how to design the

standardization assessment which is able to assess the students properly.



